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Question : A red house is made of red bricks; a blue house is made up of blue bricks than
what does the green house is made up of?
Answer: Green house is made up of Glasses

Question : Explain how five minus two equal 4?
Answer: If you take f and e from five what remain is Roman numeral iv.

Question: What two words, when combined, hold the most letters?
Answer: “Post” and “office”.

Question : People who smoke are much more likely to develop lung cancer than those who
do not smoke.

What research would possibly show that cigarette smoking does not cause cancer?
Answer: One that shows an indirect relationship between smoking and lung cancer, i.e
“smoking causes X, X causes lung cancer”. The key here is to look at “cause” as a direct
relationship.

Question: Make one word from all the following jumbled letters: REOD N O W
Answer: “One word”.

Question: What kind of cheese is made backwards?
Answer: Edam cheese.

Question: What has four legs but only one foot?
Answer: A bed.

Question:Which verb does not belong with the others in this set? BRING BUY CATCH
DRAW FIGHT SEEK TEACH THINK

Answer: DRAW is the only verb on the list with a past tense that does not rhyme with
OUGHT.

Question: What does this mean? “GGES EGSG SEGG ESGG”
Answer: Scrambled eggs.



